#### **CURRICULUM VITAE**

1) Name	: Dr. Devidas Vijay Bhosale
2) Educational Qualification	: MA. (D.S) NET, Ph.D.
3) Present Designation	: Assistant Professor & Head
4) Date of Birth	: 06-05-1983
5) Contact No.	: 9921701037
6) Email ID	: dv.bhosale@tccollege.org
7) Date of Appointment	: 15/06/2019
8) Teaching Experience	: 05 Years

9) Date of joining in present college: 18/08/2008

## **10) Educational Qualification:**

Sr. No.	Examination Passed	University/ Board	Year of Passing	Subject(s)	Class/ Grade
1	В. А.	Pune University	2004	Defence and Strategic Studies	First Class
2	M.A	Pune University	2018	Defence and Strategic Studies	Higher Second
3	PhD	SRTMU Nanded	16/02/2023	Military Science	

## 11) Total Research Publications : 09

#### a. M.Phil. / Ph.D./Research

Sr. No.	M.Phil./ Ph. D. Thesis Title	Name of The Univ.	Year of award	Name of Guide
1	PhD	SRTMU Nanded	2023	Prof. Dr. Chandrakant B. Bhange

### b. Book:

Sr. No.	Title of Book	Year of publication	ISBN	Name & Place of Publisher
1	Objective Questions in Defence and Strategic Studies	2018	978-93-53211- 30-1	Self-Published
2	संरक्षण आणि सामरिक शास्त्र: वेध स्पर्धा परीक्षांचा	2020	978-93-90110- 71-1	स्वरांजली पब्लिकेशन गाझियाबाद

	<b>^</b>			• •
	२१ व्या शतकातील			स्वरांजली
3	जागतिक सुरक्षा	2021	978-93- 90573- 83-7	पब्लिकेशन
	आव्हाने		03-7	गाझियाबाद (U.P)
	टनागा तरल एक			
	हवामान बदल एक जागतिक			स्वरांजली
4	पर्यावरणीय समस्या	2021	978-93- 90573-	पब्लिकेशन
4	संघटना धोरण आणि	2021	36-3	गाझियाबाद (U.P)
	अंमलबाजवणी			
	समकालीन जागतिक			स्वरांजली
	सुरक्षेची आव्हाने:		978-93-90573-	पब्लिकेशन
5	धोरण आणि रणनीती	2021	54-7	-
				गाझियाबाद (U.P)
	Valiant Indian Warrior,		078 02 00818	Bharti Publication,
6	Philosophies, Approaches and	2021	978-93-90818- 96-9	New Delhi
	Victories National and Global			Bharti Publication,
7	Security Challenges	2021	978-90818-22-8	New Delhi
	India's Foreign Policy			
8	Internal Security and Climate Change	2021	978-93-90818-	Bharti Publication, New Delhi
	Challenges and the Way Forward		68-6	
	वैश्विक सुरक्षा			भारती प्रकाशन
9	चुनौतियां रणनीति	2021	978-93-90818- 90-7	नई दिल्ली
	और दृष्टिकोण		90-7	শহ দেলে
	भारतीय योध्दा			भारती प्रकाशन
10	योगदान युध्दनिती	2021	978-93-90818- 95-2	नई दिल्ली
	एवं सामरिक विचार			
	२१वि सदीमें महिला			भारती प्रकाशन
11	सशक्तीकरण	2021	978-93-91681-	
	रणनीतियाँ एवं		64-1	नई दिल्ली
	चुनौतियाँ			
12	75 years of Indian Independence and	2022	978-93-91681-	Bharti Publication,
12	Changing Nature of National Security	2022	07-4	New Delhi
		2022	978-93-94779-	Bharti Publication,
13	Human Security	2022	17-4	New Delhi

14	India's Role in SAARC: India's Neighborhood Policy	2023	978-81-959679- 0-2	Big Book Distributor, Noida
15	India and Indian Ocean Region	2023	978-81-959679- 1-9	Big Book Distributor, Noida

## c. Chapter in Book:

Sr. No.	Title of Book & Name of Editor	Title of the Chapter	Year of publication	ISBN	Name & Place of Publisher
1	Indian Foreign Policy: Security and Economic Issues Prof. (Dr.) C. B Bhange, & others	China's Intervention in Changing Relation of India & Nepal	2020	978-93- 89657- 59-3	Bharti Publication, New Delhi
2	२१ व्या शतकातील जागतिक सुरक्षा आव्हाने प्रो.डॉ. भांगे सी बी, आणि देविदास विजय भोसले	भारत-चीन तणाव का वाढत आहे	2021	978-93- 90573- 83-7	स्वरांजली पब्लिकेशन गाझियाबाद (U.P)
3	समकालीन जागतिक सुरक्षेची आव्हाने धोरण आणि रणनीती प्रो.डॉ. भांगे सी बी, आणि देविदास विजय भोसले	भारतातील अन्न सुरक्षा- एक परीक्षण	2021	978-93- 90573- 36-3	स्वरांजली पब्लिकेशन गाझियाबाद (U.P)
4	हवामान बदल एक जागतिक पर्यावरणीय समस्या संघटना धोरण आणि अंमलबाजवणी प्रो.डॉ. भांगे सी बी, आणि देविदास विजय भोसले	जागतिक हवामान बदल आणि त्याचा भारतावरील परीणाम	2021	978-93- 90573- 54-7	स्वरांजली पब्लिकेशन गाझियाबाद (U.P)
5	भारतीय विदेशनिती का बदलता रक्षा एवं सुरक्षा परिदृश्य प्रो.डॉ. भांगे सी बी	भारत-श्रीलंका संबंध वर्तमान और भविष्य	2021	978-93- 90818- 72-3	Bharti Publication, New Delhi
6	वैश्विक सुरक्षा एवं चुनौतिया: रणनिती और दृष्टिकोन डॉ. सी. बी. भांगे एवं देविदास विजय भोसले	वैश्विक जलवायु परिवर्तन और भारत की भूमिका	2021	978-93- 90818- 90-7	Bharti Publication, New Delhi
7	भारतीय योद्धाः योगदान, युद्धनीति एवं सामरिक विचार डॉ. सी. बी. भांगे एवं देविदास विजय भोसले	फील्ड मार्शल सॅम होर्मसजी फ्रामजी जमशेदजी माणेकशॉ एक सैन्य नेता	2021	978-93- 90818- 95-2	Bharti Publication, New Delhi
8	National and Global Security Challenges: Approaches and Strategies	Need to understand the mirage of Chinese Aggressiveness	2021	978-93- 90818- 22-8	Bharti Publication, New Delhi

	Prof. (Dr.) C. B Bhange,				
	Mr. Devidas V. Bhosale				
	Valiant Indian Warriors:				
9	Philosophies, Approaches, and Victories Prof. (Dr.) C. B Bhange, Mr. Devidas V. Bhosale	Shivaji Maharaj's Thoughts and Its Relevance to Modern Era	2021	978-93- 90818- 96-9	Bharti Publication, New Delhi
10	India's Foreign Policy Internal Security and Climate Change Challenges and The Way Forward Prof. (Dr.) C. B Bhange, Mr. Devidas V. Bhosale & other	Naxalism: Internal Security Concern for India	2021	978-93- 90818- 68-6	Bharti Publication, New Delhi
11	२१ वी सदी में महिला सशक्तिकरण: रणनीतियाँ एवं चुनौतियाँ प्रो.डॉ. भांगे सी बी, देविदास विजय भोसले एवं अन्य	भारतीय सशस्त्र बलों में महिलाओं का प्रवेश और महिला सशक्तिकरण	2021	978-93- 91681- 64-1	Bharti Publication, New Delhi
12	Environment Issues in 21st Century Prof. (Dr.) C. B Bhange, Mr. & other	Global Climate Change and India: An Overview	2022	978-93- 91119- 99-7	Vanya Publication, Kanpur
13	Human Security Prof. (Dr.) C. B Bhange, Mr. Devidas V. Bhosale & other	ROAD SAFETY AND HUMAN SECURITY IN INDIA: AN OVERVIEW	2022	978-93- 94779- 17-4	Bharti Publication, New Delhi
14	India's Role in SAARC: India's Neighborhood Policy Prof. (Dr.) C. B Bhange, Mr. Devidas V. Bhosale & other	भारतीय सागरी सुरक्षा	2023	978-81- 959679- 0-2	Big Book Distributor, Noida
15	India and Indian Ocean Region Prof. (Dr.) C. B Bhange, Mr. Devidas V. Bhosale & other	ब्लू इकॉनॉमी आणि भारत	2023	978-81- 959679- 1-9	Big Book Distributor, Noida

## d. Research Paper:

Sr. No	Title of the Paper	Name of Journal	Month and Year of publication	ISSN	UGC. No./Impa ct Factor/ Citation Details
1	Need to understand Cyber Crime's Impact over national	Online International Interdisciplinary Research Journal, {Bi-Monthly}	Volume-III, Issue-IV, July-Aug 2013	ISSN2249-9598	Impact Factor- 2.089 [ISRAJIF ]

	<b>a</b>				
	Security in				
	India: A case				
	study				
	Social Media				
	A New Tool				
	To Spread		VOL.1		
	Hatred And	Anekant Journal of	ISSUE-1,		
2	its	Humanities and	February	-	-
	Consequence	Social Sciences	2018		
	s on National		2010		
	Security in				
	India				
	The social				
	media and its		Vol II James		
3	Impact: A	Vol. II, Issue II,	Vol. II, Issue II, August	-	
3	Case Study	August 2019			-
	of Baramati	U	2019		
	Region				
	Understandi				
	ng social				
	media Tools,	Quest Journals	Volume 9 ~		
	Impact over	Journal of Research	Issue 6	ISSN(Online):232	
4	National	in Humanities and	(2021) pp:	1-9467	6.14
	Security - A	Social Science	33-38		
	Literature				
	Review				
	Impact of				
	social media				
	Tools Over		<b>VOLUME:1</b>		
	National	International Journal	1,		IMPACT
5	Security: A	of Multidisciplinary	ISSUE:1(3),	ISSN:2277-7881	FACTOR
5	Critical	Educational Research	January:		: 8.017
	Analysis by	Estavational Rescal CII	2022		• •••••
	Using TEEE		4044		
	Framework				
	सायबर वॅार:	"Platinum" A peer	Volume-3 Number-2		
6	राष्ट्रीय	reviewed National		ISSN 2231-0096	_
	सुरक्षेपुढील	Journal	April-June	1001N 2201-0090	-
	गंभीर धोका	ovul lidi	2013		
L	· · · · · ·	l	l	I	l

## e. Research Project:

Sr. No.	Name of Funding Agency	Project Title	Funds Received	Month and Year of sanction	Duration of the Project	Status of Project	
1	NIL						

# f. Papers presented in Seminar / Conference:

Sr. No.	Name of the Conference/ Seminar	Title of the paper	Date	Level (State/ National/ International)	Name of the Organizer
------------	---------------------------------------	--------------------	------	---	--------------------------

1	6th National conference on skill Convergence: A Management Path for Sustainable Development	Offensive Impact of social media over national security in India	07/10/2017	National	Anekant Institute of Management Studies
2	National Seminar on Indian Democracy and its Challenges	सोशल मिडिया द्वेष पसरविण्याचे नवीन साधन आणि त्याचा अंतर्गत सुरक्षितेवरती होणारा परिणाम	19/10/2018	National	Shripatrao Chougule arts and science college Malwadi- Kotoli Tal- Panhala Dist- Kolhapur
3	National Conference on The Present Scenario of Indian Democratic System: Challenges and Opportunities	सोशल मिडीयाचा वापरकर्त्यांवर होणारा प्रभाव – बारामती शहरातील वापरकर्त्यांचा अभ्यास	16/02/2019	National	Shri. Shivaji College, Parbhani
4	Virtual International Conference on "South Asia in Transition: Perspectives on Geo-Politics and Regional Cooperation" Organized by on	Attended	2nd & 3rd December 2020	International	Department of Political Science, University College for Women, Osmania University, Hyderabad, India
5	Joint Multidisciplinary International E- Conference on "Ecology, Economy, Emerging Technology and People for Sustainable Livelihood in SAARC Countries"	Benefits and Drawbacks of Online Education in Defence and Strategic Studies	28/01/2022	International	University of Swabi, Khyber Pakhtunkhwa Pakistan and M. G. Gandhi College Khed

# g. Patents Registered: <u>Artificial Intelligence Based Cyber Security Device for Military</u> <u>Networks</u>

12) Research Guidance:

### a) Guide ship Details

Sr. No.	M.Phil./ Ph.D. Guide	Name of University	Month & Year of recognition	No. of R Scho Completed	lars	
1	NIL					

### b) Research Guidance

Sr. No.	Name of Scholar	Name of University	Month and Year Registration	Title of the Research
1		NIL		

## 13) Professional recognition / award/ fellowship etc.

Sr. No.	Name of Award/ Recognition	Awarding Agency	Date
1	Vilaxna Research Icon Award 2021	Vilaxna ek sarthak Pahal Samiti Ajaib Harayana	05/09/2021
2	National Education Achievers Award 2022	Navbharat Rashtriya Gyanpeeth Pune Maharashtra.	14/06/2022
3	ACCOMPLISHMENTS IN DEFENCE AND STRATEGIC STUDIES BOOK PUBLICATIONS	SPECIAL MINDS , INDIA & UNIFACVEST UNIVERSITY, BRAZIL, SOUTH AMERICA	27/11/2022

### 14) E-Content Development:

Sr. No.	Title of Content	Level (UG/ PG / ALL)	Platform	Link of E-Content

### 15) Work Experience on Academic Bodies and other:

Sr. No.	Designation/ Position	Duration	Name of Institute / University	Details
1	Chairmen Board of Studies Defence and Strategic Studies	Since 2019	Tuljaram Chaturchand College Baramati (Autonomous)	
2	Member Academic Council	Since 2019	Tuljaram Chaturchand College Baramati (Autonomous)	
3	Member Syllabus Formation Committee	During the Year 2020- 2022	Dahivadi College Dahivadi affiliated to Shivaji University	

			Kolhapur	
4	Member Board of Studies Defence and Strategic Studies	Since 2023	R. B. Narayanrao Borawake College Shrirampur (Autonomous)	
5	Member Editorial Board	Since 22/04/2021	Revista Review Index Journal of Multidisciplinary (RRJM)	
6	Editor	Since 19/03/2022	International Journal of Humanities and Social Science Research (IJHSSR)	
7	Editor/ Reviewer	Since 24/10/2022	International Journal of Arts Humanities and Social Studies (IJAHSS)	This appointment is initially for three years.

### **16) Life Membership of Profession Bodies:**

Sr. No.	Name of Professional Body	
1	Education Research and Development Association (ERDA)	

### 17) Any other Attainment:

Attended 09 Workshops, attended 27 National and International Webinars, completed 11 various skill-oriented international certificate courses, completed 03 skill oriented international certifications.